			Centurior	Printing	MGL Print	ing Solutions	Minutem	nan Press	Conce	ept Print
			352 Ma	rket St	154 So	uth Street	349 US	9 South	40 Lyc	lecker St
			Kenilworth	, NJ 07033	New Provid	ence, NJ 07974	Manalapar	n, NJ 07726	Wyneck	, NY 10960
#	Description	Est.	Price Per	Extended	Price Per	Extended	Price Per Unit	Extended	Price Per	Extended Price
	Description	Units	Unit	Price	Unit	Price	Price Per Unit	Price	Unit	Extended Frice
A1	Polyester custom canopy tent	3	No Bid	No Bid	No Bid	No Bid	\$599.00	\$1,797.00	\$975.00	\$2,925.00*
	Custom, liquid repellent, table throw full	15								
A2	color	13	No Bid	No Bid	No Bid	No Bid	\$115.00	\$1,725.00	\$420.00	\$6,300.00*
	Core Plastic, Metal Stands, Vinyl Print,	15								
A3	Full/Multi Color	13	No Bid	No Bid	No Bid	No Bid	\$15.00	\$225.00	\$50.66	\$759.90*
	Core Plastic, Metal Stands, Vinyl Print,	5								
A4	Single Color	J	No Bid	No Bid	No Bid	No Bid	\$15.00	\$75.00	\$55.00	\$275.00
	Core Plastic, Metal Stands, Vinyl Print,	5								
A5	Full/Multi Color	J	No Bid	No Bid	No Bid	No Bid	\$15.00	\$75.00	\$37.00	\$185.00
	Core Plastic, Metal Stands, Vinyl Print,	5								
A6	Single Color	5	No Bid	No Bid	No Bid	No Bid	\$15.00	\$75.00	\$37.00	\$185.00
	Core Plastic, Metal Stands, Vinyl Print,	180								
A7	Full/Multi Color	100	No Bid	No Bid	No Bid	No Bid	\$69.00	\$12,420.00	\$131.25	\$23,625.00
	Core Plastic, Metal Stands, Vinyl Print,	180								
A8	Single Color	100	No Bid	No Bid	No Bid	No Bid	\$69.00	\$12,420.00	\$131.25	\$23,625.00
	Core Plastic, Metal Stands, Vinyl Print,	189								
A9	Full/Multi Color	107	No Bid	No Bid	No Bid	No Bid	\$60.00	\$11,340.00	\$105.00	\$19,845.00
	Core Plastic, Metal Stands, Vinyl Print,	180								
A10	Single Color	100	No Bid	No Bid	No Bid	No Bid	\$60.00	\$10,800.00	\$105.00	\$18,900.00
A11	Vinyl Banner, Full Color	4	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
A12	Vinyl Banner, Single Color	4	No Bid	No Bid	No Bid		No Bid	No Bid	No Bid	No Bid
A13	Vinyl Banner, Full Color	4	No Bid	No Bid	No Bid			No Bid	\$51.25	\$205.00
A14	Vinyl Banner, Single Color	4	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	\$51.25	\$205.00
	10' x 2' Polyester Feather Flag - Full/Multi	6								
A15	Color	· ·	No Bid	No Bid	No Bid	No Bid	\$140.00	\$840.00	\$255.00	\$1,530.00
	10' x 2' Polyester Feather Flag - Single Color	6								
A16		· ·	No Bid	No Bid	No Bid	No Bid	\$140.00	\$840.00	\$255.00	\$1,530.00
	Metal/Aluminum, weather resistant, inc. Rec	14								
A17	Logo, black ink	17	No Bid	No Bid	No Bid	No Bid	\$80.00	\$1,120.00	\$175.00	\$2,450.00
	Event Schedule Sign, Core Plastic, Multi	6								
A18	Color	U	No Bid	No Bid	No Bid	No Bid	\$40.00	\$240.00	\$95.00	\$570.00
	Event Schedule Sign, Core Plastic, Multi	6								
A19	Color	U	No Bid	No Bid	No Bid	No Bid	\$40.00	\$240.00	\$75.00	\$450.00
	Brochure, Multi-Color Ink, Paper, Tri-Fold	3500								
A20	-		No Bid	No Bid	No Bid				\$0.21	\$735.00*
A20-A	Price per additional sheet of item above	3500	No Bid	No Bid	No Bid	No Bid	\$0.045	\$157.50	\$0.16	\$560.00

			Centurion	Printing	MGL Print	ing Solutions	Minutem	ian Press	Conce	pt Print
			352 Ma	rket St	154 So	uth Street	349 US	9 South	40 Lyd	ecker St
			Kenilworth	, NJ 07033	New Provid	ence, NJ 07974	Manalapar	n, NJ 07726	Wyneck	NY 10960
ш	Description	Est.	Price Per	Extended	Price Per	Extended	Price Per Unit	Extended	Price Per	Extended Price
#	Description	Units	Unit	Price	Unit	Price	Price Per Unit	Price	Unit	Extended Price
	Brochure, Black & White Ink, Paper, Tri-	3500								
A21	Fold		No Bid	No Bid	No Bid	No Bid	\$0.0925	\$323.75*	\$0.21	\$735.00*
A21-A	Price per additional sheet of item above	3500	No Bid	No Bid	No Bid	No Bid	\$0.035	\$122.50*	\$0.16	\$560.00
A22	Brochure, Multi-Color Ink, Paper, Tri-Fold	3500	No Bid	No Bid	No Bid	No Bid	\$0.106	\$371.00*	\$0.19	\$665.00
A22-A	Price per additional sheet of item above	3500	No Bid	No Bid	No Bid	No Bid	\$0.095	\$322.50*	\$0.12	\$420.00
A23	Brochure, Black & White Ink, Paper, Tri- Fold	3500	No Bid	No Bid	No Bid	No Bid	\$0.107	\$374.50*	\$0.19	\$665.00
A23-A	Price per additional sheet of item above	3500	No Bid	No Bid	No Bid	No Bid	·	\$315.00*	\$0.13	\$420.00
A24	Brochure, 2 Sheets, Full Color Double- Sided, Folded and Saddle-Stitched	3500	No Bid	No Bid	No Bid	No Bid		\$1,575.00	No Bid	No Bid
A24-A	Price per additional sheet of item above	3500	No Bid	No Bid	No Bid	No Bid	\$0.15	\$525.00	No Bid	No Bid
A25	Brochure, 2 Sheets, Black & White Double- Sided, Folded and Saddle-Stitched	3500	No Bid	No Bid	No Bid	No Bid	\$0.45	\$1,575.00	No Bid	No Bid
A25-A	Price per additional sheet of item above	3500	No Bid	No Bid	No Bid	No Bid	\$0.15	\$525.00	No Bid	No Bid
A26	Brochure, 2 Sheets, Full Color Double- Sided, Folded and Saddle-Stitched	3500	No Bid	No Bid	No Bid	No Bid		\$1,470.00	No Bid	No Bid
A26-A	Price per additional sheet of item above	3500	No Bid	No Bid	No Bid	No Bid	\$0.14	\$490.00	No Bid	No Bid
A27	Brochure, 2 Sheets, Black & White Double-Sided, Folded and Saddle-Stitched	3500	No Bid	No Bid	No Bid	No Bid	\$0.42	\$1 <i>,</i> 470.00	No Bid	No Bid
A27-A	Price per additional sheet of item above	3500	No Bid	No Bid	No Bid	No Bid	\$0.14	\$490.00	No Bid	No Bid
A28	Postcard - Single Sided - Full Color	40000	No Bid	No Bid	No Bid	No Bid		\$3,200.00	\$0.034	\$1,360.00*
A29	Post Card - Single Sided - Black & White	40000	No Bid	No Bid	No Bid	No Bid		\$3,200.00	\$0.034	\$1,360.00*
A30	Post Card - Double Sided - Full Color	40000	No Bid	No Bid	No Bid	No Bid	\$0.09	\$3,600.00	\$0.037	\$1,480.00*
A31	Post Card - Double Sided - Full Color One Side - B&W Other	40000	No Bid	No Bid	No Bid	No Bid	\$0.09	\$3,600.00	\$0.037	\$1,480.00*
A32	Post Card - Double Sided - Black & White	40000	No Bid	No Bid	No Bid	No Bid	· ·	\$3,200.00	\$0.037	\$1,480.00*
A33	Postcard - Single Sided - Full Color	48000	No Bid	No Bid	No Bid	No Bid		\$3,840.00	\$0.034	\$1,632.00
A34	Post Card - Single Sided - Black & White	40000	No Bid	No Bid	No Bid	No Bid		\$3,200.00	\$0.034	\$1,360.00*
A35	Post Card - Double Sided - Full Color	40000	No Bid	No Bid	No Bid	No Bid	\$0.09	\$3,600.00	\$0.037	\$1,480.00*
A36	Post Card - Double Sided - Full Color One Side - B&W Other	40000	No Bid	No Bid	No Bid	No Bid	\$0.09	\$3,600.00	\$0.037	\$1,480.00*
A37	Post Card - Double Sided - Black & White	40000	No Bid	No Bid	No Bid	No Bid	\$0.09	\$3,600.00	\$0.037	\$1,480.00*

			Centurio	n Printing	MGL Print	ing Solutions	Minutem	nan Press	Conce	ept Print
				arket St		uth Street	349 US	9 South		lecker St
				n, NJ 07033		ence, NJ 07974		n, NJ 07726	,	, NY 10960
		Est.	Price Per	Extended		Extended	· ·	Extended	Price Per	
#	Description	Units	Unit	Price	Unit	Price	l Price Per I nit	Price	Unit	Extended Price
A38	Postcard - Single Sided - Full Color	40000	No Bid	No Bid	No Bid	No Bid	\$0.10	\$4,000.00	\$0.06	\$2,400.00*
A39	Post Card - Single Sided - Black & White	40000	No Bid	No Bid	No Bid	No Bid	\$0.10	\$4,000.00	\$0.06	\$2,400.00*
A40	Post Card - Double Sided - Full Color	40000	No Bid	No Bid	No Bid	No Bid	\$0.12	\$4,800.00	\$0.07	\$2,800.00*
	Post Card - Double Sided - Full Color One	40000								
A41	Side - B&W Other	40000	No Bid	No Bid	No Bid	No Bid	\$0.12	\$4,800.00	\$0.07	\$2,800.00*
	Post Card - Double Sided - Black & White	40000								
A42			No Bid	No Bid		No Bid		\$4,800.00	\$0.07	\$2,800.00*
A43	Postcard - Single Sided - Full Color	40000	No Bid	No Bid	No Bid	No Bid		\$4,000.00	\$0.06	\$2,400.00*
A44	Post Card - Single Sided - Black & White	40000	No Bid	No Bid	No Bid	No Bid	' ' '	\$4,000.00	\$0.06	\$2,400.00*
A45	Post Card - Double Sided - Full Color	40000	No Bid	No Bid	No Bid	No Bid	\$0.12	\$4,800.00	\$0.07	\$2,800.00*
	Post Card - Double Sided - Full Color One	40000								
A46	Side - B&W Other	40000	No Bid	No Bid	No Bid	No Bid	\$0.12	\$4,800.00	\$0.07	\$2,800.00*
	Post Card - Double Sided - Black & White	40000								
A47			No Bid	No Bid	No Bid	No Bid		. ,	\$0.07	
	Total			No Bid		No Bid		\$144,208.75*		\$149,197.66*
		ı								
L.	Business Cards – White Linen w/ Reflex	140						4	4	4
B1	Blue Raised Ink (No Logo)		\$62.50	\$8,750.00	No Bid	No Bid	\$65.00	\$9,100.00	\$50.00	\$7,000.00
	Business Cards – White Linen w/ Red	10	450 50	450- 00			4.5- 0.0	4.550.00	4 00	4
B2	Raised Ink (With Logo)		\$62.50	\$625.00	No Bid	No Bid	\$65.00	\$650.00	\$55.00	\$550.00
	Business Cards – White Linen w/ Black	5	462.50	4242.50	N. 5:1		465.00	4225.00	455.00	4275 00
В3	Raised Ink (With Logo)		\$62.50	\$312.50	No Bid	No Bid	\$65.00	\$325.00	\$55.00	\$275.00
	Business Cards - White Vellum, Black	1	400.50	402.50	N. 5:1		4405.00	6405.00	455.00	455.00
B4	Raised Ink with Green Raised Ink Logo		\$92.50	\$92.50	No Bid	No Bid	\$105.00	\$105.00	\$55.00	\$55.00
	Business Cards – Ivory Bond Paper w/	_								
	Black, Blue and Orange Ink w/ Logo in Gold	5	462.50	4242.50	N. 5:1		440.00	6245.00	455.00	4275 00
B5	and Blue Ink		\$62.50	\$312.50	No Bid	No Bid		\$245.00	\$55.00	
	Total			\$10,092.50		No Bid		\$10,425.00		\$8,155.00
C1	8½" x 11" B/W Copies, Single-Sided	1,000	No Bid	No Bid	No Bid	No Bid	\$0.07	\$70.00	\$0.185	\$185.00
C2	8½" x 11" B/W Copies, Single-Sided	1,000	No Bid	No Bid		No Bid	70.0.	\$90.00	\$0.185	·
C3	8½" x 11" Color Copies, Single-Sided	1,000	No Bid	No Bid	No Bid	No Bid		\$200.00	\$0.185	\$185.00
C4	8½" x 11" Color Copies, Single-Sided	1,000	No Bid	No Bid	No Bid	No Bid		\$240.00	\$0.185	\$205.00
F	10 original documents, each between 10-100	1,000	140 Blu	140 Bld	140 Blu	110 blu	70.24	γ20.00	Ş0.203	7203.00
	pages each Budget Binders	2								
C5	pages each Dauget Diliters		No Bid	No Bid	No Bid	No Bid	\$400.00	\$800.00	\$105.00	\$210.00
	Total	l	INO BIU	No Bid	מט טוע	No Bid	,	\$1,400.00	Ş10 <i>3</i> .00	\$990.00
	ισιαι			NO BIU		NO BIU		₹1,400.00		0.00 وود

		[Centurior	Printing	MGL Print	ing Solutions	Minutem	ian Press	Conce	pt Print
			352 Ma	rket St	154 So	uth Street	349 US	9 South	40 Lyc	lecker St
			Kenilworth	, NJ 07033	New Provid	ence, NJ 07974	Manalapar	n, NJ 07726	Wyneck	, NY 10960
#	Description	Est.	Price Per	Extended	Price Per	Extended	Price Per Unit	Extended	Price Per	Extended Price
#	•	Units	Unit	Price	Unit	Price	rrice rer Unit	Price	Unit	Extended Frice
	#10 Regular – Return Address, White w/	75								
E1	Black Ink	7.5	\$49.50	\$3,712.50	No Bid	No Bid	\$36.00	\$2,700.00	\$160.00	\$12,000.00
	#10 Regular – Return Address, White w/	30								
E2	Reflex Blue Ink	30	\$49.50	\$1,485.00	No Bid	No Bid	\$36.00	\$1,080.00	\$160.00	\$4,800.00*
	#10 Regular – Return Address, White w/									
	Black Ink, Self-Sealing (No Removable	33								
E3	Strip)		\$68.50	\$2,260.50	No Bid	No Bid	\$70.00	\$2,310.00	\$180.00	\$5,940.00
	#10 Regular – Return Address, White w/	5	4	4					4	
E4	Black Ink Peel & Seal		\$68.50	\$342.50	No Bid	No Bid	\$70.00	\$350.00	\$180.00	\$900.00
	#10 Window – Return Address, White w/	180	452.50	40.450.00	N 5:1		420.00	46.040.00	4470.00	420 500 00
E5	Black Ink		\$52.50	\$9,450.00	No Bid	No Bid	\$38.00	\$6,840.00	\$170.00	\$30,600.00
F.C.	#10 Window – Return Address, White w/ Reflex Blue Ink	20	ć52.50	¢1.050.00	N = D:d	N = D:d	¢20.00	¢760.00	¢170.00	¢2,400,00
E6	#10 Window – Return Address, White w/		\$52.50	\$1,050.00	No Bid	No Bid	\$38.00	\$760.00	\$170.00	\$3,400.00
	Black Ink, Self-Sealing (No Removable	5								
E7	Strip)	3	\$72.50	\$362.50	No Bid	No Bid	\$69.00	\$345.00*	\$170.00	\$850.00
E7	#10 Window – Return Address, White w/		\$72.50	\$302.50	INO BIU	INO BIU	\$69.00	\$345.00	\$170.00	\$650.00
E8	Black Ink, Peel & Seal	5	\$72.50	\$362.50	No Bid	No Bid	\$80.00	\$400.00	\$170.00	\$850.00
-	#10 Window – Return Address, White w/		\$12.50	7502.50	NO DIG	NO BIG	700.00	Ş - 00.00	\$170.00	\$650.00
	Black Ink, Red Ink Parking below return	5								
E9	address		\$52.50	\$262.50	No Bid	No Bid	\$45.00	\$225.00	\$170.00	\$850.00
	#10 Window – Return Address, White w/		ψ32.30	Ψ202.30	110 510	110 510	ψ 13.00	Ψ223.00	Ψ170.00	φοσο.σο
E10	Reflex Blue Ink, Peel & Seal	34	\$76.50	\$2,601.00	No Bid	No Bid	\$80.00	\$2,720.00*	\$170.00	\$5,780.00
	#10 Regular Security – Return Address,	_	710100	+= ,=====	7.10 = 1.0		700.00	¥=/:=0:00	72.0.00	40). 00.00
E11	White w/ Black Ink	5	\$68.50	\$342.50	No Bid	No Bid	\$40.00	\$200.00	\$170.00	\$850.00
	6" x 9" Catalog – Return Address, White w/	1.7	·	·						
E12	Black Ink	17	\$92.50	\$1,572.50	No Bid	No Bid	\$70.00	\$1,190.00	No Bid	No Bid
	6" x 9" Catalog – Return Address, White w/									
	Black Ink, Self-Sealing (No Removable	17								
E13	Strip)		\$98.50	\$1,674.50	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
	7½" x 10½" Catalog – Return Address,	5								
E14	White w/ Black Ink	3	\$115.00	\$575.00	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
	9" x 12" Catalog - White w/ Black Ink	5								
E15	return address-	J	No Bid	No Bid	No Bid	No Bid	\$20.00	\$100.00	No Bid	No Bid
	9" x 12" Catalog – Return Address, White w/	5								
E16	Black Ink		\$125.00	\$625.00	No Bid	No Bid	\$100.00	\$500.00	No Bid	No Bid

			Centurior	-		ing Solutions		nan Press		pt Print
			352 Ma Kenilworth			uth Street ence, NJ 07974	1	9 South n, NJ 07726	•	lecker St , NY 10960
		Est.	Price Per	Extended	Price Per			Extended		
#	Description	Units	Unit	Price	Unit		Price Per I nit	Price	Unit	Extended Price
E17	10" x 13" Catalog – Return Address, White w/ Black Ink	5	\$145.00	\$725.00	No Bid	No Bid	\$125.00	\$625.00	No Bid	No Bid
E18	Envelope size 6 - (approx. 3.5" x 6.5") white with black ink	5	\$895.00	\$4,475.00	No Bid	No Bid	\$719.00	\$3,595.00	No Bid	No Bid
E19	10" x 13" Catalog – Return Address, White w/ Black Ink, Self-Sealing (No Removable Strip)	17	\$185.00	\$3,145.00	No Bid	No Bid	\$145.00	\$2,465.00	No Bid	No Bid
E20	12" x 15½" Catalog – Return Address, White w/ Black Ink	5	\$195.00	\$975.00	No Bid				No Bid	No Bid
	4 3/8 " x 5 3/4" pre addressed envelope Mayor - Opaque white, vellum finish, reflex blue print on back flap - side seams square	1								
E21	flap		\$145.00	\$145.00	No Bid		 		No Bid	No Bid
	Total			\$36,143.50		No Bid		\$28,420.00*		\$66,820.00*
	01/11 1111 1 1 1 1771 7					T	1			
L1	8½" x 11" Letterhead - White Linen w/ Reflex Blue Raised Ink	2	\$125.00	\$250.00	No Bid	No Bid	\$140.00	\$280.00	\$210.00	\$420.00
L2	8½" x 11" Letterhead - White Bond Paper w/ Reflex Blue Raised Ink	1	\$125.00	\$125.00	No Bid	No Bid	\$130.00	\$130.00	\$195.00	\$195.00
	Total			\$375.00		No Bid		\$410.00		\$615.00
M1	14" x 14" Canvas tote bag, one side, green ink	3,000	No Bid	No Bid	No Bid	No Bid	\$2.15	\$6,450.00	\$3.50	\$10,500.00
M2	Fall Mailing, Letter & Brochure: 4 Pages Total,	13,500	No Bid	No Bid	No Bid	No Bid	\$0.50	\$6,750.00	No Bid	No Bid
M2-A	Price per additional sheet of the item above	13,500	No Bid	No Bid	No Bid	No Bid		\$1,215.00	No Bid	No Bid
M3	Mayors Newsletter, 3 sheets 11" x 17",	15,000	No Bid	No Bid	No Bid	No Bid	\$0.49	\$7,350.00	No Bid	No Bid
М3-А	Price per additional sheet of the item above	15,000	No Bid	No Bid	No Bid	No Bid	\$0.09	\$1,350.00	No Bid	No Bid
M4	2 page letter, 8.5" x 11" on 20lb paper, both sides, black and white, tri-fold fold	15,000	No Bid	No Bid	No Bid	No Bid	\$0.39	\$5,850.00	No Bid	No Bid
M4-A	Price per additional sheet of the item above	15,000	No Bid	No Bid	No Bid	No Bid	\$0.09	\$1,350.00	No Bid	No Bid
M5	8.5" x 11" letter on 20lb paper, both sides side, full color,	15,000	No Bid	No Bid	No Bid	No Bid	\$0.37	\$5,550.00	No Bid	No Bid

			Centurior 352 Ma Kenilworth	rket St	154 So	ing Solutions uth Street ence, NJ 07974	349 US	nan Press 9 South n, NJ 07726	40 Lyd	ept Print Hecker St , NY 10960
#	Description	Est. Units	Price Per Unit	Extended Price	Price Per Unit		Price Per Unit	Extended Price	Price Per Unit	Extended Price
M6	Price per additional sheet of the item above	15,000	No Bid	No Bid	No Bid	No Bid	\$0.09	\$1,350.00	No Bid	No Bid
M7	8.5" x 11" letter on 20lb paper, one side, full color,	15,000	No Bid	No Bid	No Bid	No Bid	\$0.34	\$5,100.00	No Bid	No Bid
M8	8.5" x 11" letter on 20lb paper, both sides side,	15,000	No Bid	No Bid	No Bid	No Bid	\$0.22	\$3,300.00	No Bid	No Bid
M8-A	Price per additional sheet of the item above	15,000	No Bid	No Bid	No Bid		· · · · · · · · · · · · · · · · · · ·	\$1,350.00		
M9	8.5" x 11" letter on 20lb paper, one side,	15,000	No Bid	No Bid	No Bid	No Bid	\$0.22	\$3,300.00	No Bid	No Bid
M10	8½" x 11" Tax Collector/Admin Letter for Tax Bill Mailing,	15,000	No Bid	No Bid	No Bid		\$0.04	\$600.00	No Bid	
	Total			No Bid		No Bid		\$50,865.00*		\$ 10,500.00
014	Lui o cup ii p	10	n sed	N. D. I	N 511		d 622 00	¢c 200 00		l a seil
CL1	4" x 8.5" Parking Permit Hangtags, 5½" x 4 1/4" Polling Place Change	10	No Bid	No Bid	No Bid	No Bid	\$630.00	\$6,300.00	No Bid	No Bid
CL2	Postcards,	20	No Bid	No Bid	No Bid		\$30.00	· · · · · · · · · · · · · · · · · · ·	\$65.00	
	Total			No Bid		No Bid		\$6,900.00		\$1,300.00
BD1	BUILDING SUBCODE TECHNICAL SECTION- 8 1/2" x 11" UCC-F110 State Form, Three Part NCR, White, Canary, Hard Stock Card, Black Ink, Single-Sided (Township Name and Address Imprinted on all UCC Forms)	54	\$118.00	\$6,372.00	No Bid	No Bid	\$220.00	\$11,880.00	\$80.00	\$4,320.00
BD2	ELECTRICAL SUBCODE TECHNICAL SECTION- 8 1/2" x 11" UCC-F120 State Form, Three Part NCR, White, Canary, Hard Stock Card, Purple Ink, Single-Sided (Township Name and Address Imprinted on all UCC Forms)	54	\$118.00	\$6,372.00	No Bid	No Bid	\$240.00	\$12,960.00	\$80.00	\$4,320.00
BD3	PLUMBING SUBCODE TECHNICAL SECTION- 8½" x 11" UCC-F130 State Form, Three Part NCR, White, Canary, Hard Stock Card, Blue Ink, Single-Sided (Township Name and Address Imprinted on all UCC Forms)	54	\$118.00	\$6,372.00	No Bid	No Bid	\$240.00	\$12,960.00	\$80.00	

			Centurior	n Printing	MGL Print	ing Solutions	Minuten	nan Press	Conce	pt Print
			352 Ma	ırket St	154 So	uth Street	349 US	9 South	40 Lyc	lecker St
			Kenilworth	, NJ 07033	New Provid	ence, NJ 07974	Manalapai	n, NJ 07726	Wyneck	, NY 10960
#	Description	Est. Units	Price Per Unit	Extended Price	Price Per Unit		Prica Par I nit	Extended Price	Price Per Unit	Extended Price
BD4	FIRE PROTECTION SUBCODE TECHNICAL SECTION- 8½" x 11" UCC- F140 State Form, Three Part NCR, White, Canary, Hard Stock Card, Red Ink, Single- Sided (Township Name and Address Imprinted on all UCC Forms)	54	\$118.00	\$6,372.00	No Bid	No Bid	\$240.00	\$12,960.00	\$80.00	\$4,320.00
BD5	CONSTRUCTION PERMIT AND REQUIRED INSPECTIONS- 5½" x 8 1/2" UCC-F170 State Form,Three Part NCR, White, Canary, Pink, Double-Sided, Black Ink. (Township Name and Address Imprinted on all UCC Forms)	75	\$120.00	\$9,000.00	No Bid	No Bid	\$125.00	\$9,375.00	\$80.00	\$6,000.00
BD6	PERMIT UPDATE - 5½" x 8 1/2" UCC- F190 State Form, Three Part NCR, White, Canary, Pink, Single-Sided, Black Ink (Township Name and Address Imprinted on all UCC Forms)	60	\$118.00	\$7,080.00	No Bid	No Bid	\$75.00	\$4,500.00	\$80.00	\$4,800.00
BD7	CONSTRUCTION PERMIT APPLICATION FILE FOLDER-11 3/4" x 17½" UCC F100 State Form, 110 lb. Manila Card Stock, Black Ink, Folded on Center, Printed on all Four Sides. (Township Name and Address Imprinted on all UCC Forms)	75	\$235.00	\$17,625.00*	No Bid	No Bid	\$195.00	\$14,250.00*	\$250.00	\$18,750.00
BD8	CONSTRUCTION PERMIT NOTICE-6"x8" UCC-F180 State Form placard, 150 lb. tag or equal in yellow with black ink for print. Print for outdoor use. (Township Name and Address Imprinted on all UCC Forms)	60	\$180.00	\$10,800.00	No Bid	No Bid	No Bid	No Bid	\$75.00	\$4,500.00

			Centurio	- 1		ing Solutions	Minutem			pt Print
				orket St		uth Street	349 US		•	ecker St NY 10960
		Est.	Price Per	n, NJ 07033 Extended	Price Per	ence, NJ 07974 Extended		n, NJ 07726 Extended	Price Per	
#	Description	Units	Unit	Price	Unit	Price	Price Per Unit	Price	Unit	Extended Price
BD9	CUT-IN-CARD- 4" x 5 1/2", UCC-F350 State Form, three part, pre-collated, carbonless sets glued on left side. Part 1 white, Part 2 canary, Part 3 Pink. Print black ink on one side. (Township Name and Address Imprinted on all UCC Forms)	36	\$103.00	\$3,708.00	No Bid	No Bid	\$70.00	\$2,520.00	\$90.00	\$3,240.00
BD10	MECHANICAL INSPECTOR TECHNICAL SECTION- 8" 1/2" x 11" UCC-F145 State Form,Three Part NCR, White, Canary, Hard Stock Card, Green Ink, Single-Sided. (Township Name and Address Imprinted on all UCC Forms)	54	\$123.00	\$6,642.00	No Bid	No Bid	\$240.00	\$12,960.00	\$80.00	\$4,320.00
BD11	INSPECTION STICKER APPROVAL FOR BUILDLING- 4" x 4" UCC F-221 State Form, Easy Peel Label, white printed with black ink. (Township Name and Address Imprinted on all UCC Stickers)	48	\$114.00	\$5,472.00	No Bid	No Bid	\$95.00	\$4,560.00	\$96.00	\$4,608.00
BD12	INSPECTION STICKER APPROVAL FOR ELECTRIC- 4" x 4" UCC F-222A State Form, Easy Peel Label, white printed with pantone purple ink. (Township Name and Address Imprinted on all UCC Stickers)	48	\$114.00	\$5,472.00	No Bid	No Bid	\$100.00	\$4,800.00	\$96.00	\$4,608.00
BD13	INSPECTION STICKER APPROVAL FOR PLUMBING- 4" x 4" UCC F-223 State Form, Easy Peel Label, white printed with reflex blue ink. (Township Name and Address Imprinted on all UCC Stickers)	48	\$114.00	\$5,472.00	No Bid	No Bid	\$100.00	\$4,800.00	\$96.00	\$4,608.00
BD14	INSPECTION STICKER APPROVAL FOR FIRE PROTECTION- 4" x 4" UCC F-224 State Form, Easy Peel Label, white printed with warm red ink. (Township Name and Address Imprinted on all UCC Stickers)	48	\$114.00	\$5,472.00	No Bid	No Bid	\$100.00	\$4,800.00	\$96.00	\$4,608.00

			Centurior	n Printing arket St		ing Solutions uth Street		nan Press 9 South		pt Print lecker St
				n, NJ 07033		ence, NJ 07974		n, NJ 07726	•	, NY 10960
#	Description	Est. Units	Price Per Unit	Extended Price	Price Per Unit	Extended Price	Dries Dan Unit	Evtandad	Price Per Unit	Extended Price
BD15	INSPECTION STICKER NOT APPROVAL - 4" x 4" UCC F-230 State Form, Easy Peel Label, flourescent red background with black ink. (Township Name and Address Imprinted on all UCC Stickers)	60	\$114.00	\$6,840.00	No Bid	No Bid	\$100.00	\$6,000.00	\$96.00	\$5,760.00
BD16	INSPECTION STICKER NOT APPROVAL - 4" x 6" UCC F-230 State Form(long form) Easy Peel Label, fluorescent red background with black ink (Township Name and Address Imprinted on all UCC Stickers)	48	\$123.00	\$5,904.00	No Bid	No Bid	\$120.00	\$5,760.00	\$96.00	\$4,608.00
BD17	4" x 4" "Sorry We Missed You" Yellow/Orange Background, Easy Peel Label, Black Ink (Township Name and Address Imprinted on all UCC Stickers)	18	\$119.00	\$2,142.00	No Bid	No Bid	\$120.00	\$2,160.00	\$96.00	\$1,728.00
BD18	STOP CONSTRUCTION STICKER NOTICE- 6" x 8" UCC F-255 State Form, placard 150 lb. tag or equal. Fluorescent red printed with black letters. NOTE: Print for outdoor use. (Township Name and Address Imprinted on all UCC Stickers)	6	\$135.00	\$810.00	No Bid	No Bid	No Bid	No Bid	\$75.00	\$450.00
BD19	UNSAFE STRUCTURE STICKER NOTICE- 6" x 8" UCC F-245 State Form, placard 150 lb. tag or equal. Fluorescent red printed with black letters. NOTE: Print for outdoor use. (Township Name and Address Imprinted on all UCC Stickers)	6	\$135.00	\$810.00	No Bid	No Bid	No Bid	No Bid	\$75.00	\$450.00
BD20	INSPECTION STICKER APPROVAL FOR MECHNICAL INSPECTION- 4"x 6" Easy Peel Label, white printed with dark green ink. (Township Name and Address Imprinted on all UCC Stickers)	30	\$165.00	\$4,950.00	No Bid	No Bid	\$120.00		\$98.00	\$2,940.00
	Total			\$123,687.00*		No Bid		\$131,220.00*		\$93,258.00

			Centurio	n Printing	MGL Print	ing Solutions	Minutem	nan Press	Conce	ept Print
			352 Ma	arket St	154 So	uth Street	349 US	9 South	40 Lyc	decker St
			Kenilworth	n, NJ 07033	New Provid	ence, NJ 07974	Manalapar	n, NJ 07726	Wyneck	, NY 10960
	Dona dada a	Est.	Price Per	Extended	Price Per	Extended	Price Per Unit	Extended	Price Per	E 4 I. I D
#	Description	Units	Unit	Price	Unit	Price	Price Per Unit	Price	Unit	Extended Price
CT1	* 9 3/4" x 4" Special Complaint Summons	1	No Bid	No Bid	No Bid	No Bid	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00
	* 8½" x 6" (6 1/2" x 4" when ripped out)	1								
CT2	Cash Bail Receipts,	1	No Bid	No Bid	No Bid	No Bid	\$1,115.00	\$1,115.00	\$490.00	\$490.00
CT3	* 12" x 5½" ATS Mailers	6	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	\$344.00	\$2,064.00*
CT4	8½" x 11" Judgment of Conviction,	1	No Bid	No Bid	No Bid	No Bid	\$675.00	\$675.00	\$395.00	\$395.00
CT5	8½" x 11" DD1's IDRC Forms,	1	No Bid	No Bid	No Bid	No Bid	\$575.00	\$575.00	\$385.00	\$385.00
СТ6	8½" x 11" DD2's Penalty DWI	1	No Bid	No Bid	No Bid	No Bid	\$220.00	\$220.00	\$229.00	\$229.00
CT7	* 8½" x 11" Bail Recognizance	1	No Bid	No Bid	No Bid	No Bid	\$750.00	\$750.00	\$440.00	\$440.00
CT8	8 1/2" X 11" Appeal Rights Form,	1	No Bid	No Bid	No Bid	No Bid	\$320.00	\$320.00	\$180.00	\$180.00
СТ9	4" x 10" Warrant Paper,	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	\$690.00	\$690.00
	* 8½" x 6" (6 1/2" x 4" when ripped out)	1								
CT10	Cash Bail Receipts,	1	No Bid	No Bid	No Bid	No Bid	\$575.00	\$575.00	\$440.00	\$440.00
CT11	9 3/4" x 4" Traffic Summonses,	1	No Bid	No Bid	No Bid	No Bid	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00
	Total			No Bid		No Bid		\$6,630.00		\$10,313.00*
DPW1	8 1/2" x 3 1/2" Bulk Permit Card,	1	No Bid	No Bid	No Bid	No Bid	\$290.00	\$290.00	\$140.00	\$140.00
DPW2	4 1/4" X 11 Door Hangers -	3	No Bid	No Bid	No Bid	No Bid	\$250.00	\$750.00	\$295.00	\$885.00
DPW3	8 1/2 x 11 Door Hangers - C	4000	No Bid	No Bid	No Bid	No Bid	\$0.25	\$1,000.00	\$0.295	\$1,180.00
DPW4	8½" x 11" Water Bills, 4-Up Sheets,	10	No Bid	No Bid	\$235.00	\$2,350.00	\$450.00	\$4,500.00	No Bid	No Bid
DPW5	8½" x 11" Reminder Bills, 4-Up Sheets,	6	No Bid	No Bid	\$280.00	\$1,680.00	\$450.00	\$2,700.00	No Bid	No Bid
DPW6	8½" x 11" Termination Notices,	6	No Bid	No Bid	\$280.00	\$1,680.00	\$395.00	\$2,370.00*	No Bid	No Bid
DPW7	PRINT MAILING Recycling Calendar,	15,200	No Bid	No Bid	No Bid	No Bid	\$0.90	\$13,680.00	No Bid	No Bid
	PRINT MAILING - 5.5" x 8.5" Postcard	15 200								
DPW8	leaf pickup reminder,	15,200	No Bid	No Bid	No Bid	No Bid	\$0.132	\$2,006.40*	No Bid	No Bid
	PRINT MAILING 11"x17" flat size Water	1 200								
DPW9	Quality (ccr) Report,	1,200	No Bid	No Bid	No Bid	No Bid	\$0.50	\$600.00	No Bid	No Bid
	Total		•	No Bid		\$5,710.00		\$27,896.40*		\$2,205.00

			Centurior 352 Ma Kenilworth	rket St	154 So	ing Solutions uth Street ence, NJ 07974	349 US	nan Press 9 South n, NJ 07726	40 Lyc	ept Print Jecker St , NY 10960
#	Description	Est. Units	Price Per Unit	Extended Price	Price Per Unit	Extended Price	Price Per Unit	Extended Price	Price Per Unit	Extended Price
Z1	8½" x 11" Driveway Inspection, Two Part NCR, White, Canary, Black Ink	18	\$98.00	\$1,764.00	No Bid	No Bid	\$70.00	\$1,260.00	\$90.00	\$1,620.00
	30" x 42" Street Map, White Bond Paper w/ Black Ink (Printed from Engineering GIS	18								
Z2	File), Folded		No Bid	No Bid	No Bid	No Bid	\$975.00	\$17,550.00*	\$290.00	\$5,220.00
Z3	8½" x 14" Application for Zoning Approval - Two Part NCR - White, Canary, Pink, Black Ink, Single-Sided	18	\$123.00	\$2,214.00	No Bid	No Bid	\$120.00	\$2,160.00	\$165.00	\$2,970.00
23	5 1/2 by 8 1/2 Two Part NCR White and		\$123.00	32,214.00	NO BIU	INO BIU	\$120.00	\$2,100.00	\$105.00	\$2,970.00
Z4	Canary Black Ink, Single-Sided Form	18	\$92.00	\$1,656.00	No Bid	No Bid	\$50.00	\$900.00	\$85.00	\$1,530.00
	8½" x 11" CCO Checklist Forms - Two Part NCR - White, Canary, Black Ink, Single-	25	***	40			470.00	44 === 0.00	***	40.050.00
Z5	Sided		\$98.00	\$2,450.00	No Bid	No Bid	\$70.00	\$1,750.00	\$90.00	
	Total			\$8,084.00		No Bid		\$23,620.00*		\$13,590.00
	lorge data to the control of the con	1								
F1	8½" x 11" Life Hazard Inspection Form Cover Page,	1	\$320.00	\$320.00	No Bid	No Bid	\$220.00	\$220.00	\$240.00	\$240.00
F2	8½" x 11" Life Hazard Inspection Violation Page	1	\$320.00	\$320.00	No Bid	No Bid	\$220.00	\$220.00	\$240.00	\$240.00
F3	8½" x 11" Non-Life Hazard Fire Inspection Form,	1	\$320.00	\$320.00	No Bid	No Bid		\$220.00	\$240.00	
F4	Fire Alarm Panel Stickers-DO NOT RESET ALARMS	2	\$185.00	\$370.00	No Bid	No Bid	\$125.00	\$250.00	\$195.00	\$390.00
	Total		-	\$1,330.00		No Bid		\$910.00		\$1,110.00
				_			-			
201	8½" x 11" Traffic Safety Towing - Three Part NCR - White, Canary, Pink, Black Ink	1	4105.00	4405.00		N. D. I	4110.00	4110.00	N. Bil	
PD1	Sequentially Numbered		\$195.00	\$195.00	No Bid	No Bid	\$140.00	\$140.00	No Bid	No Bid
	Warning Books, 2 Part, 4" x 9½" w/ Wraparound Covers in 25's, 2 Staples,	100								
PD2	Perforated, Numbering		No Bid	No Bid	No Bid	No Bid	\$8.25	\$825.00	No Bid	No Bid
	12" x 18" No Parking – Temporary Police Order signs. Printed on .024 plastic. Orange background, Black Lettering. Marlboro	1								
PD3	Township Police written on bottom.		No Bid	No Bid	No Bid	No Bid	\$395.00	\$395.00	No Bid	No Bid

			Centurior	n Printing	MGL Print	ing Solutions	Minuten	nan Press	Conce	pt Print
			352 Ma	irket St	154 So	uth Street	349 US	9 South	40 Lyc	decker St
			Kenilworth	i, NJ 07033	New Provid	ence, NJ 07974	Manalapa	n, NJ 07726	Wyneck	, NY 10960
#	Description	Est.	Price Per	Extended	Price Per	Extended	Price Per Unit	Extended	Price Per	Extended Price
#	Description	Units	Unit	Price	Unit	Price	Trice Let Offic	Price	Unit	Extended 1 11ce
PD4	12" x 12" Posted – No Trespassing, No Hunting, Fishing or Trapping Under Penalty of Law, Township of Marlboro Sign. Printed on .024 plastic. White background Red Lettering. Outlined in Red.	1	No Bid	No Bid	No Bid	No Bid	\$280.00	\$280.00	No Bid	No Bid
	4" x 2" Speedometer Labels, Oak Tag White		NO BIG	NO BIG	NO DIG	140 Bld	7200.00	7200.00	NO BIG	NO BIG
PD5	Stock, One Color Ink	1	No Bid	No Bid	No Bid	No Bid	\$75.00	\$75.00	No Bid	No Bid
	8½" x 11" Active Shooter Checklist: 2-Sided Card Stock Multi Color	100	\$0.95	\$95.00	No Bid					
	4x6 Postcard "SPECIAL EVENTS" single sided high gloss, multi color ink, Marlboro Township Police written on top, EVENT NAME, DATE, TIME PLACE, INFORMATION ON EVENT	2000	\$0.45	\$900.00	No Bid	No Bid	\$0.09	\$180.00	No Bid	No Bid
DDG	8½" x 11" Animal Control Forms - Three Part NCR - White, Canary, Pink, Black Ink	2			Na Did	No Did				
PD8	Sequentially Numbered		\$165.00	\$330.00	No Bid	No Bid	\$140.00	\$280.00	No Bid	No Bid
PD9	Dog License Tags, Colored Aluminum, Sequentially Numbered with Flat Links	3,200	No Bid	No Bid	\$0.45	\$1,440.00	No Bid	No Bid	No Bid	No Bid
PD10	Cat License Tags, Colored Aluminum, Sequentially Numbered with Small Cat Links	300	No Bid	No Bid	\$1.14	\$342.00	No Bid	No Bid	No Bid	No Bid
PD11	8½" x 11" "Police Other", Multi-Color Ink, Glossy 100# Paper, Tri-Fold	500	\$0.85	\$425.00	No Bid	No Bid	\$0.45	\$225.00	No Bid	No Bid
PD12	Print Mailing - Alarm Registration Letter & Mailing	5,000	No Bid	No Bid	No Bid	No Bid	\$0.52	\$2,600.00	No Bid	No Bid
PD13	Print Mailing - Pet Registration Letter & Mailing	3,500	No Bid	No Bid	No Bid	No Bid	\$0.42	\$1,470.00	No Bid	No Bid
	Total			\$1,945.00		\$1,782.00		\$6,520.00		No Bid

			Centurion Printing 352 Market St Kenilworth, NJ 07033		MGL Printing Solutions 154 South Street New Providence, NJ 07974		Minuteman Press 349 US 9 South Manalapan, NJ 07726		Concept Print 40 Lydecker St Wyneck, NY 10960	
#	Description	Est. Units	Price Per Unit	Extended Price		Extended Price	Price Per Unit	Extended Price	Price Per Unit	
TC1	8½" x 11" Homestead Rebate and/or Anchor Program Bills	4,000	No Bid	No Bid	\$0.01	\$40.00	\$0.25	\$1,000.00	No Bid	No Bid
TC2	8½" x 11" Estimated Tax Bills, 3-Up Perforated Sheet,	15,000	No Bid	No Bid		\$900.00	\$0.29	\$4,350.00	No Bid	No Bid
TC3	8½" x 11" Delinquent Notices,	15,000	No Bid	No Bid	\$0.06	\$900.00	\$0.29	\$4,350.00	No Bid	No Bid
TC4	8½" x 14" Tax Bills, 4-Up Perforated Sheet,	17,000	No Bid	No Bid		\$1,683.00	\$0.39	\$6,630.00*	No Bid	No Bid
TC5	8½" x 14" PD5 Senior Forms,	200	No Bid	No Bid	\$0.01	\$2.00*	\$0.30	\$60.00	No Bid	No Bid
TC6	8½" x 11" Tax Sale Certificates,	300	No Bid	No Bid	\$0.24	\$72.00	\$0.09	\$27.00	No Bid	No Bid
TC7	8½" x 11" Estimated Tax Bill Letter,	15,000	No Bid	No Bid	\$0.04	\$600.00	\$0.04	\$600.00	No Bid	No Bid
TC8	8½" x 11" Tax Collector/Admin Letter for Tax Bill Mailing,	15,000	No Bid	No Bid	\$0.04	\$600.00	\$0.04	\$600.00	No Bid	No Bid
TC9	8½" x 14" preprinted Tax bills sorted by 3 digit zip code	14,500	No Bid	No Bid	No Bid	No Bid	\$0.36	\$5,220.00	No Bid	No Bid
TC10	8½" x 14" Tax Bill Forms	14,500	No Bid	No Bid	No Bid	No Bid	\$0.39	\$5,655.00	No Bid	No Bid
TC11	8½" x 3.67"(1/3 of 8½" x 11" preprinted Estimated Tax bills	14,500	No Bid	No Bid	No Bid	No Bid	\$0.24	\$3,480.00	No Bid	No Bid
Total				No Bid		\$4,815.00*		\$31,972.00*		No Bid
R1	Value Lanyard	1,000	No Bid	No Bid	No Bid	No Bid	\$0.89	\$890.00	\$1.88	\$1,880.00
R2	Customized Premium Water-Resistant Paper Wristbands	1,000	No Bid	No Bid	No Bid	No Bid	\$0.23	\$230.00	\$0.25	\$250.00
R3	9 1/2"x 7" calendars, monthly planning guide,	300	No Bid	No Bid	No Bid	No Bid	\$2.79	\$837.00	\$4.25	\$1,275.00
R4	3 ½" x 6 1/4" calendars, hardcover monthly pocket calendar	300	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
R5	9 1/2"x 7" calendars, monthly planning guide,	300	No Bid	No Bid	No Bid	No Bid	\$2.79	\$837.00	No Bid	No Bid
R6	100 yards printed 6" width ribbon.	1	No Bid	No Bid	No Bid	No Bid	\$695.00	\$695.00	No Bid	No Bid
R7	8½" x 14" Best of Times Seasonal Brochure,	600	No Bid	No Bid	No Bid	No Bid	\$3.33	\$1,998.00*	No Bid	No Bid
R8	8½" x 11" Camp Brochure & Insert,	15,000	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
Total				No Bid		No Bid		\$5,487.00*		\$3,405.00
Artwork Set Up Fee 10		10 Hrs	\$0.00	\$0.00	\$0.00	\$0.00	\$90.00	\$900.00	\$50.00	\$500.00

^{*}Adjustment made for mathematical error on bid form